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Some students sit a test.
The test is out of 40 marks

Martin 30 marks
Gina 35 marks
Ricky 31 marks
Vicky 38 marks
Chloe 29 marks

The pass mark is 80%

Work out the fraction of the students that
passed the exam.

A toy grows when placed in a bucket of
water.

The toy doubles in size every minute.

After 5 minutes the toy will half-filled the
bucket.

After how many minutes will the toy fill the
bucket?

A 10p coin has a diameter of 24.5mm

Caitlyn makes a straight line of 10p coins
worth £20

How long is the line?
Give your answer in metres.
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